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Solutions
Coin comprehension - solutions
1.	 �Up to 200 million.
2.	 �Titan and Robbie. 
3.	 �Automated Guided Vehicles.
4.	 �Titan.
5.	 �Teacher check, but reasons may include: 

•	 �because the robots can lift large amounts 
of coins

•	 �because there are less injuries to people 
and less accidents 

•	 �because the robots work at night so 
everything is set up ready for the staff 
when they arrive in the morning

•	 to entertain visitors!
6.	 �The tracks are there because the AGVs take 

exactly the same path every time they move 
through the factory.

7.	 �Teacher check (answer requires inferential 
thinking).


